Multiplication et Division par 0,1 (G)

Trouvez chaque produit ou quotient.

4,571 x0,1 = 6,385 + 0,1 =
1,937 - 0,1 = 3+-0,1=
1,4934 x 0,1 = 7+0,1=
7,04 X 0,1 = 4,924 +-0,1=
7,02 +0,1= 9,967 - 0,1 =
7,6 +-0,1= 2,3+0,1=
2,392 x0,1 = 3,82+0,1=
5,2095 + 0,1 = 1,618 X 0,1 =
53X%0,1= 9,9 x0,1=
6,428 - 0,1 = 1,2+0,1=
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Multiplication et Division par 0,1 (G) Solutions

Trouvez chaque produit ou quotient.

4571 x%x0,1=0,4571 6,385 + 0,1 = 63,85
1,937 + 0,1 =19,37 3+0,1=30

1,4934 x 0,1 = 0,14934 7+01=70

7,04 x 0,1 =0,704 4924 + 0,1 =49,24
7,02 +0,1=70,2 9,967 = 0,1 =99,67
7,6 -0,1=76 2,3+0,1=23

2,392 x0,1=0,2392 3,82 +0,1=38,2
5,2095 =+ 0,1 =52,095 1,618 x 0,1 =0,1618
53x%0,1=0,53 9,9 x0,1=0,99
6,428 + 0,1 = 64,28 1,2+01=12
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